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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-1f the computer happened to function improperly, you ... to use alternative means to solve the issue.

1) will have 2) would have had
3) had to 4) would have
2-Baboons, which are large monkeys living in Africa and South Asia, have arms that appear as ...
their legs.
1) lengthy as 2) more lengthily than
3) lengthier as 4) lengthily as

3-After a strangely long pause, he refused, much to the surprise of the others, ... on the account of
his visit to Brazil.

1) to elaborating 2) elaborate
3) to elaborate 4) elaborating

4-John is a gifted singer for sure, and if he can play the guitar ... he can sing, he will have quite a career.
1) so well that 2) as good as
3) half as well as 4) as half well as

5-1... in the debate competition, but I had a conflicting personal engagement that required my attention.
1) would participate 2) would have participated
3) participated 4) had participated

6-The problem-solving ability of a chess grandmaster is undeniably superior ... a casual player only
playing for enjoyment.
1)to 2) to that of
3) than that of 4) than

7-If you ... something by forcing them, it generally has the reverse effect, and actually makes it less
likely that they do what you want.
1) try to get someone to do 2) try getting someone done
3) will try to get someone do 4) will try getting someone to do

8-The school administration decided to ... with new desks and chairs to provide a more conducive
learning environment for the students.
1) have been equipped the classroom 2) have the classroom equipped
3) have the classroom equip 4) the classroom have been equipped

9- After years of working as a software engineer, she decided to dedicate herself to pursuing a career in
sustainable agriculture, and devoted all of her time and resources ... about organic farming methods.
1) to learn 2) learning
3) having learned 4) to learning

10-Had I chosen a different career path when I was younger, I ... in a different country right now,

speaking a different language and immersing myself in a new culture.

1) might be living 2) would have lived
3) will be living 4) had been living

11-The weight of bananas harvested each year in this country is at least ... the world’s production of
pineapples.
1) the two times weight of 2) two times the weight of
3) as two times as heavy as 4) more than two times heavier

12-Richard is considered to be ... , if not more intelligent than, the other members on the football team.
1) less intelligent 2) the most intelligent
3) as well intelligent 4) as intelligent as

13-The pressure ... causes Americans to be energetic, but it also puts them under a constant emotional strain.
1) to compete 2) competing
3) to be competed 4) having competed

14-The airplane was delayed due to technical issues, and frustrated passengers realized there was
nothing they could do but ... for further updates.

1) be waited 2) to wait
3) waiting 4) wait
15-The plane I intended to catch crashed and everyone was killed. If I ... that plane, I would be dead now.
1) caught 2) had caught
3) catch 4) am catching
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Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases marked
(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on
your answer sheet.

16-A rumor is going around that housing providers are being forced to take an increasingly
commercial ... to their assets.
1) likeness 2) approach
3) initiative 4) advance

17-While exploring the newly bought house, Peter ... tripped over the carpet, causing him to fall in a
comical fashion.
1) inconveniently 2) wittingly
3) clumsily 4) randomly

18-A newer anti-HIV drug called pyridinone caused HIV to ... into a form that could not reproduce
or infect new cells.
1) decompose 2) diminish
3) veer 4) mutate

19-New ... techniques in biology are allowing scientists to study the cell in much more detail than they
could two decades ago.
1) analytic 2) defective
3) outright 4) unequivocal

20-The new population of adults with ... heart disease requires considerable investment by the
medical community to match the standards of care set in childhood.
1) indiscriminate 2) congenial
3) tentative 4) congenital

21-Lawrence decided to become an artist because he wanted to talk to people through his art. He
wanted to awaken the ... of all Americans and make them feel and think about the struggles of
black people for equality and justice.
1) ambition 2) limelight
3) conscience 4) inspiration

22-Receiving a rejection letter from her dream university on her birthday truly ... her day and
dampened her spirits.
1) destroyed 2) made
3) ruined 4) demonstrated

23-1t is widely assumed that in the first chaotic months of a serious war, the military commander will
have unquestioned ... over the African country.
1) morality 2) stability
3) authority 4) responsibility

24-Who would have thought the policeman’s mentoring would have such a positive and ... influence
on the troubled young man?
1) profound 2) undue
3) adverse 4) destructive

25-While the judge was on the bench, he was extremely ... and always sentenced criminals to the
strictest punishment possible according to the laws of the land.
1) furious 2) rigid
3) abhorrent 4) deceptive

26-1t’s believed that ... to ultra-violet rays from the sun can lead to skin cancer, so it is advisable to
cover all areas of unprotected skin with sunscreen.

1) instruction 2) collision
3) exposure 4) simulation
27-1 wish we could ... poverty since the gap between the rich and the poor keeps getting bigger.
1) eradicate 2) estimate
3) anticipate 4) procrastinate

28-Giving more details than are needed and giving answers which are longer than necessary may be a
clear ... that a person is lying.
1) elaboration 2) indication
3) contribution 4) contradiction

29-Many people ... their moral principles to their religious upbringing which provides a clear set of
guidelines to live by.
1) dispute 2) distinguish
3) attribute 4) compromise

30-The structure of the new museum is ..., and its modern architecture and innovative design can
draw visitors from around the world.
1) plain 2) repulsive
3) obsolete 4) stunning
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31-The innovation of the new technology is groundbreaking with its potential applications in fields
such as medicine and engineering, promising to ... the way we live and work.

1) disappear 2) obstruct
3) revolutionize 4) decline
32-The severity of the storm caused ... damage and power outages throughout the city.
1) negligible 2) widespread
3) conventional 4) minor
33-The athlete performed ... in the competition, setting a new record and winning the gold medal.
1) brilliantly 2) awfully
3) inadequately 4) horribly

34-The soccer fans were so excited and emotional after their team won the championship that they
got ... and rushed onto the field.
1) sorted out 2) worn off
3) carried away 4) held up

35-The story is funny, and has a ... message about looking after the environment that cannot be
understood by young children.
1) contradictory 2) hesitant
3) subtle 4) controversial

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.

36-
1) The process of evolution involving a series of natural changes that causes species to arise, adapt to
the environment, and become extinct.
2) The process of evolution involves a series of natural changes causing species to arise, adapt to the
environment, and become extinct.
3) The process of evolution that involves a series of natural changes causes species to arise, adapt to
the environment, and becoming extinct.
4) The process of evolution involves a series of natural changes that cause species to arise, adapt to the
environment, and becoming extinct.

37-
1) The Pomo people made more use from weaving techniques than have done their neighbors.
2) The Pomo people made use with more weaving techniques than their neighbors have been done.
3) The Pomo people made use of more weaving techniques than did their neighbors.
4)The Pomo people used more weaving techniques than have their neighbors done.

38-
1) Many ancient artifacts that are of ethnographic interest have often been separated from their original
cultural context.
2) Many ancient artifacts which are in ethnographic interest have often separated from their original
culturally context.
3) Many ancient artifacts in ethnographic interest often had been separated from their originally
cultural context.
4) Many ancient artifacts were ethnographically interested and had often separated from their
originally culturally context.

39-
1) Such heartfelt music was it that it had me captivated from listening to it the very first time.
2) It was such a heartfelt music which I was made captivated to it from listening to it the very first
time.
3) So heartfelt music was it that had me captivated from listening to it the very first time.
4) It was so a heartfelt music which I was made captivated from listening to it the very first time.

40-
1) Being tiny but resilient, the bacteria multiplies rapidly in the warm and nutrient-rich environment.
2) The bacteria, being tiny vet resilient, multiply rapidly in the warm and nutrient-rich environment.
3) The bacteria are tiny yet resilient, they multiply rapidly in the warm and nutrient-rich environment.
4) Since being tiny and resilient, the bacteria multiplies rapidly in the warm and nutrient-rich
environment.

Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Marco: Hi, how are you feeling today?

Annita: Not so good. I’m feeling ...(41)... .

Marco: Oh, I’m sorry to hear that. What’s wrong?

Annita: I have a sore throat and a headache. I think I caught a cold.
Marco: You should stay home and rest. Drink some hot tea and honey.
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Annita: Yeah, I guess you’re right. But I have so much work to do. I don’t want to fall behind.

Marco: Don’t worry about that. Your health is more important. You can’t burn the candle at

. (42)....

Annita: Thanks for your advice. You’re a good friend.

Marco: ...(43)... I hope you get well soon.

Annita: Thank you. Have a nice day.
41-1) an elephant in the room

3) asilver lining

2) a dime a dozen
4) under the weather

42-1) each end 2) both ends
3) two ends 4) neither end

43-1) Anytime. 2) Anytime?
3) Anyhow. 4) Anyhow?

Jean: Hey, do you want to go to the movies with me tonight?

Sarah: Sure, why not? What do you want to see?

Jean: ...(44)... that new comedy? It looks hilarious.

Sarah: Hmm, I don’t know. My sister saw this movie yesterday and she said it was a waste of time
and money.

Jean: Well, maybe she has a different taste in movies than us.

Sarah: Maybe, but I don’t want to ...(45) ... . Why don’t we watch something else?

Jean: Like what?

44-1) How about 2) What about on
3) What if 4) Why ever

45-1) spill the beans 2) cut to the chase
3) throw in the towel 4) risk it

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

Although its purpose and techniques were often magical, alchemy was, in many ways, the
predecessor of the modern science of chemistry. The fundamental ...(46)... of alchemy was derived
from the best philosophical dogma and scientific practice of the time, ...(47)... educated people
between 1400 and 1600 believed that alchemy had great merit.

The earliest authentic works on European alchemy are those of the English monk Roger Bacon
and the German philosopher St. Albertus Magnus. In their treatises ...(48)... that gold was the perfect
metal and that inferior metals such as lead and mercury were removed by various ...(49)... of
imperfection from gold. They further asserted that these base metals could be transmuted to gold by
blending them with ...(50)... . This elusive substance was referred to as the “philosopher’s stone.” The
process was called transmutation.

Most of the early alchemists were artisans who were accustomed ...(51)... trade secrets and often
«.(52)... to cryptic terminology to record the progress of their work. The term sun was used for gold,
moon for silver, and the five known planets for base metals. This convention of substituting symbolic
language attracted some mystical philosophers ...(53)... the search for the perfect metal with the
struggle of humankind for the perfection of the soul. The philosophers began to use the artisan’s
terms in the mystical literature that they produced. Thus, by the fourteenth century, alchemy had
developed two distinct groups of practitioners—the laboratory alchemist and the literary alchemist.
Both groups of alchemists continued to work ...(54)... of alchemy, but, of course, it was the literary
alchemist who was more likely to produce a written record; therefore, much of what is known about
the science of alchemy is derived from philosophers rather than from the alchemists who ...(55)... in
laboratories.

46-1) attempt 2) premise 3) treason 4) insight
47-1) and the majority of 2) the majority of which

3) and the majority were 4) whose majority were
48-1) maintained 2) was maintained 3) they maintained 4) maintaining
49-1) scores 2) degrees 3) values 4) margins

50-1) gold and more perfect than substance
3) a substance more perfect than gold
51-1) to keep 2) to keeping
52-1) contributed 2) confirmed
53-1) who compared 2) compared

54-1) down to earth
3) throughout the history

55-1) founded 2) labored

2) more than perfect a substance as gold

4) a perfect substance more than gold

3) and kept 4) that kept

3) resorted 4) provided

3) were compared 4) that were compared
2) without ceremony

4) out of order

3) signaled 4) reduced
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Part F: Reading Comprehension

Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the
questions about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1:
The Age of Enlightenment, often referred to as the “Age of Reason,” was a pivotal period in Western
intellectual history that spanned from the late 17th to the 18th century. It was characterized by a
profound shift in thinking, where reason, logic, and empirical evidence took center stage, challenging
the authority of tradition and religion. This intellectual movement had a profound impact on various
aspects of society, including politics, philosophy, science, and culture.

One of the central ideas of the Enlightenment was the belief in human reason and its potential to
improve society. Thinkers like John Locke, Voltaire, and Jean-Jacques Rousseau championed the
idea that individuals possessed innate rights and could use their rational faculties to challenge
oppressive governments and demand greater personal freedom. This emphasis on individualism and
the pursuit of knowledge laid the foundation for the development of democratic ideals and the spread
of human rights, influencing events like the American and French Revolutions.

In addition to its political implications, the Enlightenment era also ushered in significant
advancements in science and philosophy. Figures like Isaac Newton and René Descartes laid the
groundwork for the scientific method, fostering a spirit of inquiry that led to breakthroughs in
various fields. Philosophers like Immanuel Kant sought to reconcile reason with morality, exploring
the ethical dimensions of human behavior. This intellectual ferment not only expanded the frontiers
of knowledge but also challenged established dogmas, paving the way for a more rational world view.

56-What is the primary purpose of the passage?
1) To provide a chronological overview of the Age of Enlightenment and its key figures
2) To narrate personal anecdotes and experiences of Enlightenment thinkers
3) To compare and contrast the Enlightenment era with other historical periods
4) To analyze the impact of the Age of Enlightenment on various aspects of society
57-Why does the author mention Jean-Jacques Rousseau in the second paragraph?
1) To highlight Rousseau’s contributions to science and philosophy during the Age of Enlightenment
2) To emphasize Rousseau’s role in the American Revolution
3) To illustrate how Rousseau’s ideas contributed to the evolution of principles related to democracy and
the wider adoption of fundamental human rights
4) To show that Rousseau was opposed to the Enlightenment ideals of reason and individualism
58-The underlined word “ferment” in paragraph 3 is closest in meaning to ... .
1) turmoil 2) stagnation 3) literacy 4) decay
59-Which of the following questions is NOT answered in the passage?
1) How did the Enlightenment era impact art and literature in Western society?
2) Who were some of the key Enlightenment thinkers mentioned in the passage?
3) What were some of the contributions of specific Enlightenment thinkers?
4) What were the central ideas of the Enlightenment and how did they influence society?
60-How is the passage organized?
1) The passage primarily presents a series of arguments made by Enlightenment thinkers.
2) The passage is organized around the contrast between reason and faith.
3) The passage introduces some influential features of the Enlightenment era, detailing events during the era.
4) The passage alternates between discussing politics and science during the Enlightenment.
PASSAGE 2:
Aviculturists, people who raise birds for commercial sale, have not yet learned how to simulate the
natural incubation of parrot eggs in the wild. They continue to look for better ways to increase egg
production and to improve chick survival rates.

When parrots incubate their eggs in the wild, the temperature and humidity of the nest are
controlled naturally. Heat is transferred from the bird’s skin to the top portion of the eggshell,
leaving the sides and bottom of the egg at a cooler temperature. This temperature gradient may be
vital to successful hatching. Nest construction can contribute to this temperature gradient. Nests
made of loosely arranged sticks, rocks, or dirt are cooler in temperature at the bottom where the egg
contacts the nesting material. Such nests also act as humidity regulators by allowing rain to drain
into the bottom sections of the nest so that the eggs are not in direct contact with the water. As the
water that collects in the bottom of the nest evaporates, the water vapor rises and is heated by the
incubating bird, which adds significant humidity to the incubation environment.

In artificial incubation programs, aviculturists remove eggs from the nests of parrots and
incubate them under laboratory conditions. Most commercial incubators heat the eggs fairly evenly
from top to bottom, thus ignoring the bird’s method of natural incubation, and perhaps reducing the
viability and survivability of the hatching chicks. When incubators are not used, aviculturists
sometimes suspend wooden boxes outdoors to use as nests in which to place eggs. In areas where
weather can become cold after eggs are laid, it is very important to maintain a deep foundation of
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nesting material to act as insulator against the cold bottom of the box. If eggs rest against the wooden
bottom in extremely cold weather conditions, they can become chilled to a point where the embryo
can no longer survive. Similarly, these boxes should be protected from direct sunlight to avoid high
temperatures that are also fatal to the growing embryo. Nesting material should be added in
sufficient amounts to avoid both extreme temperature situations mentioned above and assure that the
eggs have a soft, secure place to rest.

61-What is the main idea of the passage?
1) Nesting material varies according to the parrots’ environment.
2) Humidity is an important factor in incubating parrots’ eggs.
3) Aviculturists have constructed the ideal nest box for parrots.
4) Wild parrots’ nests provide information useful for artificial incubation.

62-According to paragraph 2, when the temperature of the sides and bottom of the egg are cooler than
the top, then ... .
1) there may be a good chance for successful incubation
2) the embryo will not develop normally
3) the incubating parent moves the egg to a new position
4) the incubation process is slowed down

63- According to the passage, sticks, rocks, or dirt are used to ... .
1) make the nest bigger
2) hold the nest together
3) help lower the temperature at the bottom of the nest
4) soften the bottom of the nest for the newly hatched chick

64-All of the following are part of a parrot’s incubation method EXCEPT ....
1) heating the water vapor as it rises from the bottom of the nest
2) maintaining a constant temperature on the eggshell
3) transferring heat from the parent to the top of the eggshell
4) arranging nesting material at the bottom of the nest

65-Which of the following is a problem with commercial incubators?
1) They are expensive to operate.
2) They are unable to heat the eggs evenly.
3) They lack the natural temperature changes of the outdoors.
4) They do not transfer heat to the egg in the same way the parent bird does.

PASSAGE 3:

The nervous system of vertebrates is characterized by a hollow, dorsal nerve cord that ends in the
head region as an enlargement. Even in its most primitive form this cord and its attached nerves are
the result of evolutionary specialization, and their further evolution from lower to higher vertebrate
classes is a process that is far from fully understood. Nevertheless, the basic arrangements are similar
in all vertebrates, and the study of lower animals gives insight into the form and structure of the
nervous system of higher animals. Moreover, for any species, the study of the embryological
development of the nervous system is indispensable for an understanding of adult morphology.

In any vertebrate, two chief parts of the nervous system may be distinguished. These are the
central nervous system, consisting of the brain and spinal cord, and the peripheral nervous system,
consisting of the cranial, spinal, and peripheral nerves, together with their motor and sensory
endings. The term autonomic nervous system refers to the parts of the central and peripheral systems
that supply and regulate the activity of cardiac muscle, smooth muscle, and many glands.

The nervous system is composed of many millions of nerve and glial cells, together with blood
vessels and a small amount of connective tissue. The nerve cells, or neurons, are characterized by
many processes and are specialized in that they exhibit, to a great degree, the phenomena of
irritability and conductivity.

66-What does the passage mainly discuss?
1) The parts of a neuron 2) The structure of animals’ nerve
3) The nervous system of vertebrates 4) The development of the brain
67-The author implies that a careful investigation of a biological structure in an embryo may lead to ... .
1) improved research of the same structure in other species
2) a better understanding of the fully developed structure
3) discovering ways in which poor development can be corrected
4) a method by which scientists can document various stages of development
68-The two main parts of the central nervous system are the brain and the ... .

1) sensory endings 2) cranial nerve
3) spinal cord 4) peripheral nerves
69-All of the following are described as being controlled by the autonomic nervous system EXCEPT ... .
1) cardiac muscle 2) connective tissue 3) glandular activity 4) smooth muscle
70-What does the pronoun “they” in paragraph 3 refer to?
1) phenomena 2) processes 3) glial cells 4) neurons
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